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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GUls—d

(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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Define Accounting and describe its objectives and
utility.
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What is ‘Goodwill’ ? Under what circumstances, the
goodwill valuation is required ? Discuss the ‘Super
profit method’ of goodwill valuation.
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Define debentures. Describe the various methods of
redemption of debentures.
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RST Ltd. issued 20000 shares of ¥ 10 each at a
premium of ¥ 2 per share. The amount was payable as
under :

(i) 2 per share on application
(it) X 5 per share on allotment including premium

(iii) Balance in first and final call



B-5

[3] BC-07

Allotment was made as under :
(@) 5280 shares to the applicants for 11500 shares
(b) 7100 shares to the applicants for 24000 shares

(c) Balance shares to the applicants for 12700 shares
on pro-rata basis.

All calls were made and money was received except on
450 shares allotted to X on pro rata basis who could
not pay allotment and call money. His shares were
forfeited and 50% of forfeited shares were re-issued at
T 9 per shares fully paid.

Pass Journal entries in the books of RST Ltd.
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Section-B / Yls—Y

(Short Answer Type Questions) / (FF{J; TN LEg))

Note : Section ‘B’ contains eight (08) short answer type

e
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questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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State Accounting Conventions.
o R B G AR
What is ‘Buy Back of Shares’ ? Explain.
3T BT U HI T T ? R |

Explain ‘Going concern concept’.

Gl FGHI Dl JTRV bl ARAT HIfT |

Explain the role of Accounting Standards.
G AFD! BT YfHdT B FHISY |
What is ‘Ex-Interest’ and ‘Cum-Interest’ ? Explain.
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What is ‘Normal rate of return’ ? Explain.

YA B AR T FT 8 ? FHR |

Explain ‘Profit & Loss Appropriation Account’.
AW e @ a1 \Hesy |

A company, which has a paid-up share capital of
20000 equity shares of ¥ 10 each and 1000, 15%
preference shares of ¥ 100 each, earns an average
annual profits of ¥ 75,000 (after tax). It has a policy of
transferring ¥ 10,000 to general reserve before

declaring any dividend. The Normal rate of return is
10%. Calculate the value of firm.
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Section-C / YUvs—1T
(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type

qrc :

questions of one (01) mark each. All the questions
of this Section are compulsory.
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Indicate whether the following statements are True or False :
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Book building is a price discovery mechanism.
(True/False)
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2. Forfeited shares cannot be re-issued. (True/False)
ERA 37l Bl QARG T b S W & |
(T / 3c)
3. Amalgamation of companies is governed by AS-14.
(True/False)
HH BT THIAROT AS-14 § I grar 2|
(acg / 3c)
4. Interim dividend is adjusted with the final dividend.
(True/False)
JaR| omer, ofqw e & 9 SERIfo far
ST 2 | (A / 3rc)
5. A company cannot buy-back its non-equity shares.
(True/False)
2 (acg / 3c)
Fill in the blanks :
Rad el a1 Ry
6. Sinking Fund method can be used for ........ of
debenture.
RifeT wvs fafy &1 ITERT FEoAl " forg
fopT S W B |
7. After buy-back of the shares, the debt-equity ratio
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should not exceed ............ )
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A dividend declared before annual closure of books is
known as ............ dividend.
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Capital is liability due to ........... :
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